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REAL CHAMPS -



A certain sum of money lent out at simple interest amount Rs.1380 in 3 years and Rs. 
1500 in 5 years. Find the rate percent per annum ?
साधारण ब्याज पर उधार दी गई एक निनित रानि 3 वर्ष में रु.1380 और रु. 5 साल
में 1500 वानर्षक दर प्रनतित ज्ञात कीनजये?

1)3%
2)3.5%
3)4%
4)5%



A sum of ₹ 198 deposited at CI doubles itself after 4 years. After 20 years it will 
become ?
चक्रवृद्धि ब्याज पर जमा की गई ₹ 198 की रानि 4 वर्ष बाद अपिे आप दुगिी हो जाती
है। 20 साल बाद बि जाएगा?

1)₹ 6336
2)₹ 5894
3)₹ 9250
4)₹ 7932



A = 10 days      B = 20 days      C =  30 days
They all started the work, 6 days before the completion of work B left the work and 9 days 
before the completion the work A left the work then find in how many days the whole work will 
be completed?
वे सभी काम िुरू करते हैं, काम पूरा होिे से 6 नदि पहले बी काम छोड़ देता है और काम पूरा
होिे से 9 नदि पहले ए काम छोड़ देता है, तो पूरा काम नकतिे नदिो ों में पूरा होगा?

1)6
2)12
3)18
4)NOT



A costs twice as much as B. A is sold at a loss of 10% and B is sold at 7/5th of its price. If selling 
price of A is Rs. 1200 more than selling price of B, what is the cost price of A?
A की कीमत B से दोगुिी है। A को 10% की हानि पर बेचा जाता है और B को इसकी कीमत के
7/5वें नहसे्स पर बेचा जाता है। यनद A का नवक्रय मूल्य रु. B के नवक्रय मूल्य से 1200 अनधक, A 
का क्रय मूल्यक्या है?

1)Rs. 2400
2)Rs. 3000
3)CND
4)Rs. 6000



The angles of depression of two ships from the top of a light house are 45° and 30°
towards east. If the ships are 200 m apart, find the height of the light house ?
एक लाइट हाउस के िीर्ष से दो जहाजो ों के अविमि कोण पूवष की ओर 45° और 30° 
हैं। यनद जहाज 200 मीटर दूर हैं, तो लाइट हाउस की ऊों चाई पाएों ?

1)100 m
2)173 m
3)200 m
4)273 m



ABC is an equilateral triangle and CD is the internal bisector of ∠C. If DC is produced 
to E such that AC = CE, then ∠CAE is equal to ?
ABC एक समबाहु निभुज है और CD ∠C का आोंतररक समनिभाजक है। यनद DC को E 
में इस प्रकार बढाया जाए नक AC = CE हो, तो CAE नकसके बराबर होगा?

1)45°
2)75°
3)30°
4)15°



In 30 litres of milk and water, water is only 20%. How many litres of water should be 
added to it to increase the percentage of water to 60% ?
30 लीटर दूध और पािी में पािी केवल 20% है। पािी का प्रनतित 60% तक बढािे
के नलए इसमें नकतिे लीटर पािी नमलािा चानहए?

1)24 litres
2)6 litres
3)20 litres
4)30litres



Amit borrowed Rs. 20,000 from his friend at 15% per annum simple interest he lent it to Tarun
at the same but rate compounded annually. Find his gain after 2 years ?
अनमत िे अपिे दोस्त से 15% प्रनत वर्ष साधारण ब्याज पर 20,000 रुपये उधार नलए, उसिे इसे
तरुण को उसी पर उधार नदया, लेनकि सालािा चक्रवृद्धि दर। 2 वर्ष बाद उसका लाभ ज्ञात
कीनजये?

1)324
2)604
3)450
4)572



In the given figure AB || CD, ∠A = 128°, ∠E = 144°. Then, ∠FCD is equal to ?
दी गई आकृनत में AB || सीडी, ∠A = 128°, ∠E = 144°। तो, FCD नकसके बराबर है?

1)72°
2)64°
3)136°
4)92°



The ratio of Nicotine to Heroine in four types of drugs of equal quantity is 2 : 3, 3 : 7, 4: 11 and 
11 :9 respectively. The four drugs are mixed together. What is the ratio of Nicotine to Heroine 
after mixing?
समाि मािा की चार प्रकार की और्नधयो ों में निकोनटि और हीरोइि का अिुपात क्रमि: 
2:3,3:7,4:11 और 11:9 है। चारो ों दवाओों को एक साथ नमलाया जाता है। नमलािे के बाद
निकोनटि का हीरोइि से अिुपात नकतिा है?

1)213 : 91
2)418 : 189
3)91 : 149
4)149 : 81



10 men complete any work in 8 days and 16 women complete same work in 10 days. 8 women 
start the work and stop working after 4 days. How many men will complete the remaining work 
in 4 days?
10 पुरुर् नकसी कायष को 8 नदिो ों में पूरा करते हैं और 16 मनहलाएों उसी कायष को 10 नदिो ों में
पूरा करती हैं। 8 मनहलाएों काम िुरू करती हैं और 4 नदि बाद काम करिा बोंद कर देती हैं। बचे
हुए काम को नकतिे आदमी 4 नदि में पूरा करें गे?

1)15 men
2)20 men
3)16 men
4)12 men



The HCF of two numbers is 98 and their LCM is 2352. The sum of the numbers may 
be ?
दो सोंख्याओों का एचसीएफ 98 है और उिका एलसीएम 2352 है। सोंख्याओों का योग
हो सकता है?

1)1078
2)1398
3)1426
4)1484



Two boats A and B start towards each other from two places, 150 km apart. Speed of the boat A 
and B in still water are 16 km/hr and 14 km/hr respectively. If A proceeds down and B up the 
stream, they will meet after ?
दो िाव A और B 150 नकमी की दूरी पर द्धथथत दो थथािो ों से एक दूसरे की ओर चलिा िुरू करते
हैं। िाोंत जल में िाव A और B की गनत क्रमिः 16 नकमी/घोंटा और 14 नकमी/घोंटा है। यनद A िीचे
की ओर बढता है और B धारा के ऊपर जाता है, तो वे बाद में नमलेंगे?

1)4.5 hours
2)4 hours
3)5 hours
4)6 hours


